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(1) − (𝑇𝑇 + 0)(1)𝜇𝜇𝑠𝑠 = 0 



𝑑𝑑𝑑𝑑
dΘ
−  𝑇𝑇𝜇𝜇𝑠𝑠 = 0  (oplossen door scheiding van variabelen) 

𝑑𝑑𝑑𝑑 =  𝑇𝑇𝜇𝜇𝑠𝑠𝑑𝑑Θ 

𝑑𝑑𝑑𝑑
𝑇𝑇 = 𝜇𝜇𝑠𝑠𝑑𝑑Θ 

�
𝑑𝑑𝑑𝑑
𝑇𝑇 = �𝜇𝜇𝑠𝑠𝑑𝑑Θ 

∫ 𝑑𝑑𝑑𝑑
𝑇𝑇

= 𝑙𝑙𝑙𝑙𝑙𝑙|𝑇𝑇2
𝑇𝑇1

𝑇𝑇2
𝑇𝑇1 = 𝑙𝑙𝑙𝑙𝑙𝑙2 − 𝑙𝑙𝑙𝑙𝑙𝑙1 = 𝑙𝑙𝑙𝑙 𝑇𝑇2

𝑇𝑇1
=𝜇𝜇𝑠𝑠Θ|β

0 = 𝜇𝜇𝑠𝑠β| 

𝑇𝑇2
𝑇𝑇1 = 𝑒𝑒𝜇𝜇𝑠𝑠β 

𝜇𝜇𝑠𝑠 = 0,2 

 

𝑇𝑇2 = 𝑇𝑇1. 𝑒𝑒𝜇𝜇𝑠𝑠β = 800(1.3691) = 1095,286𝑁𝑁 

800 = 𝑇𝑇2. 𝑒𝑒𝜇𝜇𝑠𝑠β 

𝑇𝑇2 =
800
𝑒𝑒𝜇𝜇𝑠𝑠β

= 584,325𝑁𝑁 

 

𝑇𝑇𝑚𝑚𝑚𝑚𝑚𝑚 < 𝑇𝑇𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟 < 𝑇𝑇𝑚𝑚𝑚𝑚𝑚𝑚 voor equilibrium 

 

584,325𝑁𝑁 < 𝑇𝑇𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟 < 1095,286𝑁𝑁 

 

 


